000 01 000 ‘01 000 '0¢ SEFRLE
000 0} 000 ‘0t 000 02 HELHOWO
9Z1 891 918G '9%9 20L 118 WENN N E S
9G1 ‘6lY IV 908 ‘LTl € 059 '80¢€ Z B i e
veC 161 veC 161 (%5
€66 292 9 £€G 2929 B et Ly
£€6°292 9 £€6°292 9 ki
LEL'60E 'L 788 8¢ v 6LL 76911 HEDFEOWOD 2
118 8Ty v 0€9 089 ¢ 618°162°¢ A

000 L62 ‘¥ 000 'L6Z V¢ L.
118 '82vV 09 LL6 LT 618 8¥G ‘LT HEYF
9¢6 '088 ‘9 210 29¢ ‘z¢ 8E6 '¢¥C '6¢ HEZE
006 ‘6 G96 91 G98 99 L)
0Ly ‘e2v 051 ‘101 ObL“LL Al
946 ‘6YV LE6 VS 18 G TET
789 16 TV 8V6 'v¥¢ ‘6¢ 91€ ‘€68 ‘92 R =2
00% 660 ‘6 00% '660 ‘6 THLLE
80¢ 'GL9V GL9 89 L9% ¢ B ) S w48
200 9.2 ' 90L ‘G2 80L “10¢g ‘¢ FIHEHZHES Y E) Tk

000 ‘1 000 'l S ZER T LR ch WY [

£09 01 £09 ‘01 LOLOSSOS! 2 L L L)% ] +£8
Ge8 ‘GECV 026 ‘GLT G60 ‘O TIEHE HHHENE
865 '€V 1GE ‘800 ¥ €GL '¥8¢ ‘¢ 6928GG O 5 2C 45 Ll L35 o] 4]
LLL0Y8 0L 6G¢ '000 'S 0£0 ‘178 ‘G THl
£60 '8 P8Y 7€ LEG O a1 AsN
728 '8¥8 01 EYL 280G £9G 188 ‘Gl THIT %
9¢1 vy '8 evL 06V ‘ve 698 ¥.8 ¢ HBEW

Mt NE] ¥EBFR EEEES
| EOHZ
ET (Fd * THD) ( HUHICHE 9 gL )
FEHIXFIE




¢S50 'G0¢E 'Gi GGL 718 99 L08°L11C8 ISHROHE
000 001 ¢ 000 ‘001 C HEZEOWO X
&t 2E =1 X EBRE EREEY
FHoHE

e (kd = Tl

HVZHS =9 oy

( DUcHICHS H9 4L )

FER RIS




HPZ G =ho Ufss

250 'S0 G/ GG 218 99 [08°L11 28 SSEOHBPO NS
I¥E 'G€ 81V 228 01C 1 610 GII vV EEHOHE I
8EY 689 11V £06 689 9V V€ G2¢ 81V (B R = C )
V€ G2¢ 81V 22 01¢ vl 610 GI1 ¥V B LR [ EO I
g SR AR SEEEE ERRENG
o B
£6€ 029 €€ £Ev 209 ¢G 928 2€¢ 98 ESEQES
000 260 61 000 56 01 000 110 0€ TV HTE e
178 99 ‘¥ £GE ‘661 ‘1€ 61 '¥9% '9¢ TY RS Y
178 2L €¢ £G€ €GL ¢V 61 GLY 99 e
0S¢ ¥ 000 G 0S¢ 6 TEY)
866 ‘69 129 '06¥ 629 '0G1 ‘1 Z ol
02 ‘72 '6 £GY '€5¢ '6 159 166 ‘81 TS
256 806 6 080 6V8 6 2€9 LGL 61 =AU
T ¥ E(=HIH X EHR H e 2R
SR E
EHe¢ ([l = Ayjr) ( U HICHS =9 es )
wm,,_x@mim



